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N.B. .— (1) Solve Question No. 1 on OMR sheet.

(i) Question Nos. 1 and 2 are compulsory.
(111  All questions carry equal marks.
(iv) Negative marks for wrong answers.
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MCQ
1. €) Which of the following is not a characteristic of Perfect Competition ?
(a)  Profit Maximisation (b)  Perfect Knowledge
(0 Price discrimination (d) Lack of transport cost
TTcAcush! v gul e Sfvrsey AmEr 2
(@) ¥&aH TH (b 9O |
(0  qea%g (d) dTeqh TEET A9E

P.T.O.

D76CA4B55F2A4ATF3F44B90A 2EO0SF7D9



WT

62)

(i11)

(1v)

(v)

(vD)

(2)

A—93—2018

In perfect competition, when AR is greater than AC, there is :

(a0 Normal profit
(o Loss
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In monopoly there is lack of :
(a) Competition

(0 Price
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Under monopoly, seller is :
(a)  Price taker
) Both (a) and (b)
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(D) Superprofit
(d)  None of these

........................... th
(b)) Al T
(d)  ATUehT T
(b)  Buyers
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@) Price maker
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Selling cost is an important feature of :

(a) Monopoly

) Monopolistic Competition

(b)  Perfect Competition
(d) None of these
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PHD X ol s A market, seller makes product differentiation.

(a)  Monopolistic Competition

(0 Perfect Competition

(b)  Monopoly
(d) None of these

EESS L SRS
(a) ua%mﬁ'gaa gt
(@ o wgei

ST foashcarehgd Bid.

(b  TRER
(d) el A&

D76CA4B55F2A4ATF3F44B90A 2EO0SF7D9



WT

Q%11

(x)

(%)

( 3 ) A—93—2018

............................ is used in the sense of surplus earned by a factor of
production over its transfer earnings.

(a) Rent (b)  Wages

(0 Interest (d)  Profit
........................... W'{@|®| 6N|qﬂlw|wwﬂlw|a*vlﬂqﬁ oqqlq{ﬁqm
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The supply of loanable fund is derived from :

(a) Saving (b)  Dishoarding
(0 Bank credit (d)  All of these
Fols WehHdl qESl B HIV HHER Adaied STl ?
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‘Innovation Theory of Profit’ is given by :

(a) Schumpeter (b)  Marshall

(¢ Smith (d)  Knight
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The supply of labour depends on :

(a)  Population

(b) ~ Bargaining power of the labour

(o  Wage rate

(d)  All of the above
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Theory
2. Define Perfect Competition. Explain the characteristics of perfect competition.
10
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3. What is monopoly ? Explain its characteristics. 10
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What is product differentiation ? What are the ways of product differentiation
in monopolistic competition.
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4, Write short notes on any two of the following : 10
(D) Quasi Rent
(11) Liquidity Preference Theory of Interest

(zz)  Modern theory of wages

(iv)  Difference between Gross profit and Net profit.
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